ERAR BT 12FEA1-

SRARERE 1. 2FE0FELD
NO.1 B —

1 ROFEZLESN,
Mm - 7 - 12 (2)

3 - 3 +(—-20 - 4) =6

4 (- 4%) + (- 2)°

(5) 2 a —3(2 -5 a)
6) 3(4 x - y) +2( x + 3 y)
(7) — 42 a 2 p = 6 a b

2 ROBEXZEHEZZN
(1) 4 X = 27 - 5 X

2) 6 x + 45 = 9( x + 6)
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1

(1 19

@ _ 4 3 7

8 8 8

® - 3 + (- 24) =6
4 - 16 + 4 = 4
(5)20_6+’|5Cl=
6 12 x - 3 y + 2 x
vy - 7 a

2

(1) 9 x =

x = 3

(2) 6 x + 45 =9 x + 54

6 x — 9 x = 54
-3 x =9
x = -3
(3) y = x + 5
{ 2 x + 5 y = 46
DOZQICRATSDE

2 x + 5 ( x +5)
2 x + 5 x + 25
/7 x =
b'e

x = 3 ZOICKALT,

= 46
= 46

1,288 K11
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